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Artur Fortuna

Zestaw 7 - Funkcje zmiennych
losowych

Wyznacz dystrybuante rozktadu
Y = g(X) wiedzac, ze:

(X, 1X|>1

a) X ma rozklad jednostajny na prze-
dziale (—1,1)

b) Px = 30_1+ 302+ 3 fL,

gdzie f(z) = \/%—We‘%,x €R

(X, [X] <1

2.g(X):{1 |X|>1,a

?
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b) Px =16_1+ 36+ 4f£

gdzie f(z) = e‘T,xER

w





index-2_1.png
a) X ma rozklad jednostajny na prze-
dziale (—1,1)

b) Px = 16_1+ 302+ ;1 fL,
2
gdzie f(z) =

e~ T, r R

5
3

X—-1, X<0
5 g(X):{X+1, X>0"

a) X ma rozklad jednostajny na prze-
dziale (—1,1)

b) Px = %15—1—1-%524—711]05;
gdzie f(z) = e 7T,z €R

4. 9(X) = |X], a

-

a) X ma rozklad jednostajny na prze-
dziale (—1,1)





